AP Calculus AB Name: A‘(\SUJ e Keu X
Unit 5 — Days 4 & 5 — Assignment N,

1) 1998 AP Calculus AB #3 (Modified)
The graph of the velocity v(?), in feet per second, of a car traveling on a straight road, for 0 <7 <

50 is shown below. A table of values for (), at 5 second intervals of time, is also shown to the

right of the graph.
90 ot ot
(seconds) | {feel per second)
50 —

70 _ I * | . { ;

:ﬁh .-’/)J K\"\, ; 5 i 2
.- s IR 10 20
§e ® 7 15 30
B2 40 H 2 55
2 30 ’ - 25 70

e Xf' 10y -

20 4 iﬁ E’

0¥

0> 10 75

— ! A Y

O] 5 10 15 20 25 30 35 40 45 50 45 50

' 50 72

Thrre Iblﬁﬂi}ﬁdsi‘ ? i\ L 'ﬂ - O
a. During what interval(s) of time is thg’acceleration of the car positiveé? Give a reason for your
answer.
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b. Find the éverage accél?rati@of the car over the interval 0 <¢ < 50. Indicate units of

measure.
- NG ~N(ED) - - T
Payo, B CCOLX SRR O L 1= HEESE 7|
3 0 =50 - 50 <0 L !_.‘ffjﬂset

c. Find one approximation for the acceleration of the car Show the computations you
used to arrive at your answer. Indicate units of measure. '
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Lbf the car increasing or decreasing at £ = 40?7 Give a teason for your answer,

- \10—\0‘) s 70 |
~ e NG 18 0eor 04 1= 40 yaon 40)7 %&’t& 40.
xanee HUHeY and 0.H)  \noNe DQQDS\'\C S\,
\ tne Speed 1S e eaSvng 0% = Lo




2) 2000 AP Calculus AB #2 (Partial)

Two runners, 4 and B, run on a straight racetrack for 0 < tﬁ 10 seconds. The graph below,
which consists of two line segments, shows the velocity, in meters per second, of Runner 4. The

velocity, in meters per second, of Runner B is given by the function v defined by v(s) = 2”’3
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a. Find t Runngr A and the velocity of Runner B at = 2 seconds. Indicate units of
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b. Find thf Runner 4 and the acceleration of Runner B at time ¢ = 2 seconds.
Indicate unitsof Theasure. ) QJ'H“
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3) 2002 AP Calculus AB #3 (Partial)

An object moves along the x — axis with initial position x(0) = 2. The velocity of the object at

time ¢ > 0 is given by the function v(z) = sin %t)

a. What is thethe object at time # = 47
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b. Consider the following two statements.

Statement I: For 3 <t <4.5, the velocity of the object is decreasing.

Statement II. ~ For 3 <f<4.5, the speed of the object is decreasing.

Are either or both of these statements correct? For each statement, provide a reason why it is
correct or not correct,
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A particle moves along the x axis such that its position, for # > 0, is given by the function
p(f) = e* — 5¢. Use this information to complete exercises 4 — 7.

4. What are the values of p'(2) and p"(2)? Explain what each value represents.
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5. Based on the values found in part (a), what can be concluded about the speed of the particle at
t =2? Give a reason for your answer.
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ae?* ek D neg MPDS.

2 _ = .,
3] e PO 18 mo\er *:\;)\ e \f_;c“‘%

&
Wl = ot o (0,089 <
EZ0M5% oo . —
Coee pouneld VS raonng Ao Ying AT
| Q%“ L. 458, o) ‘0\? P70

7. Does the particle ever change directions? Justify your answer. o ”“;‘%%
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8. The graph of v(¥), the velocity of a moving particle, is given below. What conclusions can be
made about the movement of the particle along the x — axis and the acceleration, a(?), of the
particle for > 0? Give reasons for your answers.
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9. If the position of a particle is defined by the function x(t) = £ -9 +24 fort> 0, is the
speed of the particle increasing or decreasing when ¢ = 2.5? Justify your answer.
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The position of a particle is given by the function p(¢) = (2¢ —3)62_t for > 0. Answer questions
10—12.

10. What is th¢ average velocitglrom =1 to £ =37
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11. Find an equation for v(¢), the velocity of the particle.
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12. For what value(s) of ¢ will the v(¢) = 0?7
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2003 AP Calculus AB #2 (Partial)

A particle moves along the x —axis so that its velocity at time ¢ is given by

v({) = —(¢ + 1)sin (%J . N ()= (- t- DS\‘ﬁ (ﬁtﬂ

13. Find the acceleration of the particle at = 2. Is thf the particle increasing at t = 27

Explain why or why not.
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14. Find all times in the open 1ntervhen the particle changes direction. Justify your

answer. .
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